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B. Sc. 1st Semester (Pass Course) Examination,
November-2014

CHEMISTRY
Paper-1
Inorganic Chemistry

Time allowed : 3 hours ] [Maximum marks : 30

Note : Attempt five questions in all. Question no. one is
compulsory. Selecting at least one question from

each section.
A :  HOF GUE & G FoT g0 §Y, BT G 79T FG | 5T
q. 1 ofard 21
1. (a) Whatis the value of ‘I’ for ‘s’-subshell ? 1x6=6
‘s’- Uiy & forg 1 B A HME 7 1x6=6
(b) What is the shape of dxy.
d,, %1 ST 1 & 7
(c) Write electronic configuration of Cu*' ion.
Cu*! 39T Fl el o fofaa |
(d) What is the shape of Ammonia ?
ISP T AR FT 2 7P
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Define Dipole moment.
fEya el 1 aRed SIS |

What is effect of increase of temperature on the

conductivity of semiconductors ?

e P =ThdT U AOHE & 964 H FT UG § 7

Section-I
gus-1
Define Dual nature of light. Derive the De-broghié
equation. £ &
EbTT 1 ST pfeT Y AR T | S-S THEmT i

ety Hi | 337

‘Calculate the wavelength of the electron moving

with 2.1eV kinetic energy.

2.1eV it o1 & |1 M H @ g B AT o
I T I |
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Explain the radial probability distribution curve
for : 33

G 1s Gi) 2s (iii) 3s
1 & fIT o1dg TTfaehdT faeeer @k 1 e $ifse : 3,3
i) 1s (i) 2s (i) 3s

Using Heisenberg uncertainity, prove that electron

cannot exist into the nucleus.

O AT F ST Hd ge, R e
o S J Al el 8 Hal B

Section-II
gue-11
Using Slater’s Rule, calculate the effective nuclear
charge of : 4,2
(i) 2selectron in Scandium

(i1) 3d electron in Iron

et 2 P a1 S A g, B B S A

SR I TOFT BT - 4,2
(i) w@IRTH § 2s TR
(ii) @ ¥ 3d seEE

PTO.
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Why electron affinity of Sulphur is more than

Oxygen ?
HeHT Pl Zoa Sy lfioe | ot @i 8 7

Define atomic size. Why van der Waal radii is

larger than covalent radii ? 244

HTS SRR P URHINT HINTT | aFeY ard BT 98
T B @ st 4t B 7 337

Explain all the factors affecting the ionization

energy with example.
AT Fied SR Foll g T A a4l
P! Dl A BT

Explain the following with Ve)‘(ample :
(i) Hund’sRule

(i) Aufbau Principle

Sarete dfeq Frfefaa # e i
(i) &vs & fEm

(ii) B> RS
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Using VSEPR theory, explain the structure

of : 4,2

(i) Ammonia

(i1) Water

VSEPR Ry 1 S0 &t gu, = 1 dee @l

e BT 4,2

() R

(i) S«

Why dipole moment in :

(i) CO,

(i) BF,

e & P ot A B ¢

(i) CO,

(i) BF,

Explain all the factors affecting the Bond energy

with suitable example. k%

U ST Hied §¥ Se W AT H AW W

P %l AT BT | 33
PTO.
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Explain the Mmagnetic behavior, bond order of

CO on the basis of M.O. diagram.

M.O. f%ﬂ%ewmwco%amﬁqw, EEELE
e FI |

Section-IV
gus-IV

Explain the order of covalent character among the
NaF, NaCl, NaBr, Nal using Fajan’s Rule. 2,22
T 3 e 1 ST 323 g7 NaF, NaCl, NaBr. Nal
% = weHat R & 5 91 @y it 227
Explain the effect of increase and decrease of
pressure on Co-ordination Number with suitable
example.
mﬁmaﬁaﬁéwmwm%%ﬁwm
 99Er R #H

Give differences in between the di fferent types of

Stoichiometric defect using suitable example.

STIH IR FT I FF 5U R R Ay B R
SRl % e § oy diftr



(b)

91004

ki 91004

Draw Born Haber Cycle for the formation of

CaCl,. 2.4

CaCl, % Fir & fog 3+ 2R =5 b #ive ) 2,4

Explain the type of unit cell, structure,
co-ordination number, radius ratio, nature of void

in/of NaCl.

NaCl#® /3 33E 99 & T, 93a, e qer, B
argur, ffem @t uegfar @t amer #ifi |



